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I
Realising potential

Your answer:
Here is some information about the distances 300 people travel to
work.

A B C D
Distance, 4 (miles) Frequency . .
0<d<5 70 Try the question online:
5<d<10 98 | [w] iz [m]
10<d<25 | 84 ' 4 !
B<d<60 | 48 ;_
Total = 300 [u]

Estimate the number of people who travel more than 15 miles to work
A B

Try the quiz online:
C D .
76 90

104 196
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| think this is the answer because...

Why might students choose each of the other 3

What other incorrect answer would you add to
answers?

this question and why?
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